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AlJDITION. 'j

4ax + 8by-3cz
; ax + ^by-cz ; -3ax-2by4-4C2.

2op + q-r; 3P- 2oq + r
; p + q- 2or.

6m --
1 311 4- 5P ; 8in + n - 9p ; m + 2n 4- 5p. V

sab + 6cy - 3 ;
- Sab - 3cy + 1 1 ;

- 7ab + 1 2cy + 7.
i3xy-5z + 8 ; -7xy + 5z-i8 ; -6xy+i32+io.

B.

- 4ab + 6bc - /ca
; sab - 3bc 4- 7ca ; - 2ab - 2bc 4- 4ca.

I4ab-28bc-i7ca; i3ab-t-45l3c-3La ; I2ab-i8bc
+ loca

pq-qr-rp; -pq-qr+ rp; pq-qr+ rp.
x + y + z

;
3x-4y + z ; 2x + 3y-2z.

3a + 24b + 1 7c ; i6a - 23b - 9c ; a - 3b 4- c.

4xy-9yz4-zx; 23xy- I4yz4-zx ; I2xy- I3yz-zx.
47x-y4-63z; -27x-i-5y- 13Z ; -22x-47y- 19Z.
23a-i7bc-2d

; Sa-i6bc-i3cl; -a4-9bc-d.
ax-4b/ + 3cz; I3ax-9by4-7cz

;
- Sax + 7by- 14CZ.

2aH-3b4-c; 4b4-Sc-6d; 17a- 1304- I9d.

I.

2.

3-

4.

5.

6.

7.

8.

9-

10.

ri.

12.

J3-

EXERCISE V.

Ad^ together the following expressions :

A.

3ab - 2bc - 3ca ; 2ab 4- 3ca 4- 6abc ; ~ Sab 4- 2bc - sabc.
3x2-sxy4-6y2

; 4x2+6xy-3y^ ; 4y2 4.6x'-2 -7xy.
3a--7ab4-Sb- ;.4ab-sa--4-3b=^ ; b^ -4a-+9ab.
x--xy + y'-i;

Sx"- 4-4xy- SY^ J 6x24-xy + 5y2.
x2 + xy + y2;
a3-a-4-a
Sx'' -3x"^ + 2x
i2x-*^ + Sx-8
a'^-ab-bc
5a"5-3c3 4-2d

5y^

4-yz — y2 •
x''^4-xz4-z^,

r; 2a»-4a2-6a4-7; S'l''^ -4a" -a + 9.
k'^

; x*4-7x^-8x^ ;
Qx"* - i?x-*- isx^.

;
3x^-4x2-6; rDx^-4ix-i9.

, ab4-b3-ca; ca4-bc + c'^

b3 - 2a-^ + 2d=* ; 40^ - 2a3 - ^d'^Sa- - 3^* 4- 2d'^ ; b-^ - 2a-^ + 2d=*
;
40^ - 2a3

7x3-8x + s ; 2x'^4-x-2
; x2- 7x8 -3x4-9

x2 4-yS4-2xy
; 2Z--3y2_4yz; 2X2-2Z2_

4X-* + 5x--y 4- 5xy2 ;
- 3x2y _ 7xy2 _ 2x-J

; 7xy2 - 8


